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! 2 3 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19
[LleBueHKIBCHKE 5 20 1,8 - - - 10C3+ 13+ Ak 86 0,70 [ 28 32 440 2e caHiTapHe Biamupanus 35 IPLHO
HleBueHKiBCHKE 6 6 2,3 - - - 10C3+Bn+J13+Bny 76 0,70 1A 29 32 460 2e pyOaHHst Ta BCUXAHHS 30 marepiais
LLeBuEHKIBCbKE 8 13 1,0 - - - 10C3+]13 78 0,70 I 26 32 400 2e B1bipKoBe nepes 35 AICBIOPA/IKYBAHHS
[lleBueHKIBCBKE 9 16 0,3 - - - 10C3+Bni J13 91 0,60 [ 27 30 370 2e - P 35 HE BUABICHO
[lleBucHKiBCHKE 11 18 6,7 - - - 10C 34 }3+bn 76 0,85 [ 26 32 470 2e s s 30 -
Lleuenkinchbke 12 20 0,5 - - - 10C3 76 0,70 1A 29 32 460 2e caHiTapHe < 30 -
[HesuenkiBebre 12 21 1,0 - - - 8C32/131 bt 76 0,70 1A 29 36 420 2e pybaHHs Binmupauus 39 B
[leBuenKiBebKe 12 24 0.4 - - - 9C316n+ 113 86 0,60 1A 29 44 370 2e BuOipKoBe | Ta Beuxanns 40 s
LiesuenriBebre 12 26 20 - - - 10C3+13+bn 86 0,70 [ 28 36 440 2e - nepes 35 -
LHieBueHKIBCbKE 12 27 1,3 - - - 9C31bn 71 0,70 1A 28 32 410 2e = e 25 -
{leBucHKIBCbKE 12 28 1,3 - - - 10Cs3+/13 86 0,70 1A 29 32 460 2e caHiTapHe B 35 s
1LieBuenKiBCbKE 14 11 1,1 - - - 5]135C3 101 0,70 | 28 36 420 2e pybaHHn o 40 B
lleBucHKIBChKE 14 12 1.6 - - - 8C318nel/l3 76 0,70 1A 29 36 430 2e BHOipKOBE - 30 .
HlesuenxiBebxe 14 13 1.0 - - - 10C3+ 13+ AxG 96 0,70 1A 32 40 500 2e - = 45 .
UlesuenxiBebke 14 14 3.1 - - - 10C3+ /13 76 0,70 1A 29 36 450 2e B - 30 e
[1leBueHKIBCHKE 14 16 37 - - - 10C3+/13 76 0.70 1A 29 40 460 2e - B 35 -
Lllepuenkiscsie 14 17 2.1 - - - 10C3+ /I3+bn 96 0.7 iA 31 36 300 2e e e 24 -
LHeBUEHKIBCHLKE 14 18 0,5 - - - 9C31 13+bn 76 0,60 16 32 40 430 2e - - 35 -
LlieBtenKinCchKe 14 22 0.3 - - - 9]151C3+bu 101 0.6 I 27 32 300 2e B - 40 Ea
[HleBueHkiBCbKe 20 3 09 - - - 77133C3 11 0.7 | 29 36 400 2e S . 40 -
[1lesucHKiBChKe 20 5 0,7 - - - 10C3+/13 76 0,70 1A 28 32 440 2e - - 30 -
[HleBUCHKIBCBKE 20 8 0.3 - - - 10C3 76 0,30 1A 27 32 180 2e - R 30 =-
HlesyeHKiBChKe 20 15 1.7 - - - 10C3 66 0,70 1A 25 28 380 2e B - 30 -
1 1eBUCHRIBChKE 21 12 34 - - - 9J31Cs+Bn 173 111 0.70 il 28 32 340 2e B B S0 o
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EHKIBChKE 21 15 32 - - - 10C+13 96 0,70 IA 32 40 520 2e CaHiTapHe Binmupauus 45 3rIHO
AMesueniacore 22 10 0,9 - - - 10C3 66 0,70 1A 27 28 420 2e py6auns | Ta Bcuxanns 25 Marepianis
¢ Illesuckiscbke 22 18 0,7 - - - 10C3 81 0,60 1A 29 32 390 2e BUOipKOBE nepes 35 JICBNOPS/IKYBAHHA
[lleByeHKiBChKE 22 28 1,2 - - - 10C3+[3 81 0,60 1A 29 32 390 2e - - 40 HE BHABJICHO
IlleBueHKIBCLKE 22 29 2,5 - - - 10C3+][I3+Ak6 66 0,70 1A 27 30 420 2e B -a 25 -
[IleB4yeHKiBCbKE 22 39 1,0 - - - 10C3+]I3+bn+Knr 66 0,40 1A 27 32 240 2e - = 30 B
1l]eBuenkiBcoke 22 42 0,5 - - - 10C3+/13+ AKG 52 0,90 1A 21 24 380 2e P - 30 e
IlleBuenkiBChke 24 20 1,8 - - - 10C3 61 0,75 I 20 24 300 2e -« B 25 .
LlesyenxiBchke 28 21 2.1 - - - 8C32bn 51 0,75 1A 23 28 340 2e - = 25 B
IlleBueHKIBCbKE 28 22 2,0 - - - 9C31bn 55 0,80 IA 23 28 370 2e - B 25 B
llepuenkibchbke 48 31 1.4 - - - 10C3 66 0,75 1A 26 28 420 2e B B 25 .
LleBuenxiBcbke 48 38 0,6 - - - 8C326n+]13 66 0,70 1 24 32 340 2e - B 25 <
IllesuenkiBchke 48 30 03 { 30 | 03 03 10C3 66 0,30 IA 26 32 360 2¢ Camzs:";%m 360
IlleBuenKiBCHKE 48 39 0,7 - - - 10C3 56 0,80 1A 22 26 360 2e CaHiTapHe - 25 o
SIcHOTOpOAChKE 22 1 2,3 - - - 10C3+bn 56 0,8 I 19 24 290 3 pyOaHHs BinmupanHs 24 3T1THO
Slcxoropoachbie 22 2 0,3 - - - 10C3+Bn 56 0,8 1 19 24 290 3 BUOIPKOBE | Ta BCHXaHHN 22 Marepianis
SicHoropolchbke 22 3 0,2 - - - 10C3+bn 59 0,80 11 17 22 260 3 ) JaepeB 20 JCBNOPAJKYBaHHS
SlcHoropoacbke 22 5 0,7 - - - 10C3+bn 59 0,8 11 17 22 260 3 s B 25 HE BHABJIEHO
ScHoroponcbie 25 42 3,8 - - - 7C3(61)3C3(51) 61 0,7 I 21 26 290 3 - - 22 e
ScHoropoacske 29 4 08 |@n| o7 0,7 10C3 61 0,7 I 20 2 233 3e Caﬂ;ﬁ“}'j:":y ca 233
SICHOropoacske 39 1 0,5 - - - 10C3 48 0,7 | 17 22 220 3e CaHiTapHe == 20 =
ScHoropoackke 39 2 0,3 - - - 8C32bn 32 0,6 11 10 12 90 2e pyb6aHHs = 24 s
SIcHOrOpoAChke 39 3 0,7 - - - 10C3 48 0,70 11 16 20 200 2e BUOIPKOBE - 23 -
ScHoroponceke 39 4 0,5 - - - 10Cs3 49 0,70 I 12 14 130 2e B = 22 -
SICHOTOpOACHKE a7 4 2,6 - - - 10C3 51 0,70 Jid 17 22 220 3 s =« 25 =
SlcHoropoIchke 47 5 1,4 - - - 8C3(61)2C3(71) 61 0,7 1 21 28 310 B “n 20 -
SIcHOropoachke 58 S5 0,9 - - - 10C3 61 0,8 I 20 26 310 3e s - 21 -
SlcHOropoachke 58 54 0,6 - - - 10C3 61 0,8 I 20 26 320 3 - “u 23 -
SIcHOTOpOLChKe 59 36 07 |@en| o3 0,3 10C3 54 0,70 I 16 20 217 3¢ cyuinsHa 217
SlcHOTOpOAChKe 59 37 13 {G7.y] 06 0.6 10C3 51 0,7 I 14 18 273 3e Caﬂ;ﬁ;‘g"‘; txa 273
JIHinpoBcEke 5 7 45 - - - 9C3(81)1C3(66) 81 0,65 I 24 30 340 4e cauiTape “ 30
J{HinpoBCbke 1 10 19 . - - 1Ca9ncao9cses)| 79 0,65 1 24 30 340 4e pyGaHs 40
JIHinpoBcsKe 11 16 2,0 - - - 9C3(76)1C3(86) 76 0,65 I 2 28 300 4e BUGIpKOBE 30
JIHIIPOBCbKE 71 14 4.6 - - - 10C3+13+bn 62 0,65 1 23 26 320 4e e e 20
Jninposceke 16 16 1.3 - - - 8C3(71)1C3(101)1bn 71 0,55 I 24 36 250 4e B X 20 X
JiHinposceke 16 17 34 - - - 10C3+Bn 61 0,6 1A 24 28 310 4e = - 20 <
JIHInpoBCbke 23 3 38 - . . 7C3(51)3C3(56) 51 0,75 1A 21 28 330 4e 20
JHinpoBchke 23 3 0,4 X - - 8C3(76)1IC3(111)1Bn | 76 0,60 1 23 28 270 4e 20 «
JIHInpoBCbKe 23 9 0,7 - - - 10C3+bn 91 0.4 I 23 36 190 4e e B 20 P
JlHinpoBCLKE 23 10 1,2 - - - 8C3(63)2C3(81) 63 0,7 1 22 32 280 4e - - 20 -
JiHinposcbke 23 13 0,8 - - - 10C3+bn 64 0,60 1 21 24 260 4e - - 20 s
Jluinposcbke 25 10 53 (10.1) 0,2 0,2 10C3+bn+/13 54 0,75 I 20 22 290 4e CyuutbHa - 290 -
JHinpoBchKe 25 11 03 (11.1) 0,2 0,2 3arubile HACAIPKEHHN caniTapHa = 300 -
JHinposcbke 26 12.1 0,6 (12.1) 0,6 0,6 10Cs 52 0,60 ¢ 21 24 226 4de pybka - 226 =
JIHinpoBcbke 23 15 0,5 - - - 10C3 71 0,65 1 22 28 300 4e caHiTapHe - 20 -
JIHinpoBCchke 23 18 2,1 - - - 10C3(58)+C3(85) S8 0,70 1 21 22 300 de _pybaHHs - 40 B
IHinpoBCEKe 24 5 10 - - - |8Ca(562C3(76)+Bntll] 56 0,70 1A 23 24 350 4e BUGIpKOBE 20
JIHINpoBChKe 24 6 1,0 - - - 10C3+bn+]13 66 0,60 I 24 32 310 de _py0GaHHs - 20 =
JIHIMpOBChKe 24 20 0,3 - - - 10C3+bn+/3 52 0,60 1A 21 22 260 4¢ = - 20 -
JIHinpoBChKe 25 6 0,7 - - - 10C3+Bn 86 0,65 I 25 32 350. 4e B - 20 =
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rnd 4 8 9 12 13 14 15 16 17 18 19
IMPOBCHKE 0,5 10C3 86 25 32 330 4e = = 20 -
/ JIHINpOBChKe 09 7C3(55)3C3(75)+bn 55 21 24 260 4e R e 20 -
1 JIHinposcbke 29 10C3 91 26 32 340 4e B B 20 -
/ JlHinpoBcbke 0,9 10C3+Bn 91 26 30 340 4e = - 20 -
JIHinpoBchke 4.9 10C3+bn 76 24 30 360 4e caHiTapHe | Binmupanns 20 3TiAHO
JIHinposchke 0,9 10C3 86 25 32 330 4de py6aHHA Ta BCUXaHHS 40 Martepianis
JlHinposcske 24 10C3+bn 92 25 32 350 4e BHOIpKOBE Aepes 20 JTCBIOPSAAKYBAHHS
JHinposcbke 39 9C3ibn 65 24 28 300 4e py6GanHs - 20 HE BHSBJICHO
Jlninposchke 1,1 10C3 59 24 24 310 4e 30
JIHinpoBchke 1,0 10C3+bn+/13 61 21 24 220 4e B - 20 =
JlHinposchke 1,8 10C3+)I3+bn 61 24 26 360 4e =< - 20 --
JHinposcbre 02 10C3+Bn 68 23 26 290 de B Bt 20 -
JlHinpoBcbke 0.8 10C3 91 24 32 310 4e = = 20 =
JlHinposcbke 1,6 10C3+3+bn 71 26 32 340 4e s s 20 -
JIHinpoBChKe 1,0 10C3(66)+113+bn 66 22 24 270 4e - - 20 ==
JIlHinpoBcbke 2,3 10C3+bn+/I3 66 23 24 360 4e B - 40 B
IlHinpoBcbke 24 7C33bn+]13 42 17 18 230 4e o - 20 =
Jininposceke 1,5 10C3 79 27 36 300 4e B - 20 -e
JInteuniscbke 7,5 10C3k 51 22 24 370 2e = Kopenesa ry6ka 35 =
JIuTBUHIBCHKE 1,5 10C3xk 61 24 26 420 2e - Kopenesa ryfka 35 B
JIuTBUHIBCbKE 13,0 10C3k 61 24 26 390 2e = Kopenesa ry6ka 35 <
JlutBHHIBCBKE 50 6C3(125)3C3(95)1 113 125 30 48 320 2e B Biamupanus 40 -
JIuTBUHIBCLKE 7,0 6C3(110)2C3(802113+| 110 29 40 360 2e = Ta BCUXAHHA 35 o
JIMTBUHIBCHKE 55 9C31 I3+bn 91 28 36 390 2e = Jiepes 40 B
JIuTBMHIBCbKE 2,2 5C34]1316n 110 30 40 380 2e = Bt 40 B
JIuTBHHIBCBKE 1,9 8C32/3+bn 111 29 40 400 2e - - 35 -
JINTBUHIBCbKE 14 8C3(60)2C3(80) 26 390 2e - - 35 =
JIluTBURIBCHKE 2.0 10C3 24 320 2e - - 20 B
JlutBuHiBCHKE 5,5 10C3+Bn+Ak6 24 320 2e “ P 20 -
BCBOT'O 189,4
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